COMPLEX FRACTIONS

$$\frac{\frac{1}{2} + \frac{2}{3}}{\frac{1}{5} + \frac{1}{2}} = \frac{\frac{3}{6} + \frac{4}{6}}{\frac{2}{10} + \frac{5}{10}} = \frac{\frac{7}{6}}{\frac{7}{10}} = \frac{\frac{5}{10}}{\frac{7}{10}} = \frac{5}{3}$$

$$\frac{(x-2)X}{(x-2)X+2} - \frac{3(x+2)}{X-2(x+2)} \underbrace{\frac{\chi^2-2x-3x-6}{(x+2)(x-2)}}_{(x+2)(x-2)} \underbrace{\frac{\chi^2-5x-6}{(x+2)(x-2)}}_{(x+2)(x-2)} = \underbrace{\frac{\chi^2-5x-6}{(x+2)(x-2)}}_{(x+2)(x-2)}$$

$$\frac{(x+3)\frac{3x}{x-2} - \frac{x+2(x-2)}{x+3(x-2)}}{(x+3)\frac{3x^2+9x+(x^2+4)}{(x-2)(x+3)}} = \underbrace{\frac{\chi^2-5x-6}{(x+2)(x-2)}}_{(x+2)(x+3)}$$

$$= \frac{\chi^2 - 5x - 6}{(\chi + 2)(\chi - 2)} \cdot \frac{(\chi - 2)(\chi + 3)}{2\chi^2 + 9\chi + 4}$$

$$= \frac{(x-6)(x+1)}{(x+2)(x-2)} \cdot \frac{(x-2)(x+3)}{(2x+1)(x+4)}$$

$$= \frac{(x-6)(x+1)(x+3)}{(x+2)(2x+1)(x+4)}$$

SOLVING RATIONAL EQUATIONS

Simplify

y results in an expression with variables.

Solve

* results in X=#

* has an = sign

$$\frac{2}{2} \left(\frac{x}{3} + \frac{x}{3} \right) = 2$$

$$\frac{10 \times = 42}{10}$$

$$\frac{\chi+5}{\chi^3+\chi^2} - \frac{2}{\chi^2-2\chi} = \frac{-3}{\chi^2-\chi-2}$$
1) Factor the denums.
$$\frac{\chi+5}{\chi^2(\chi+1)} - \frac{2}{\chi(\chi-2)} = \frac{-3}{(\chi-2)(\chi+1)}$$
2) Check for excluded χ^2 ($\chi+3$) (χ